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clc
P=[1 1 ; 1 -1]
% first example
%D=[1 0 ; 0 -1]
% part 2
%D=[1 0 ; 0 -1/2]
% part 3
D=[2 0 ; 0 3/2]
A=P*D*inv(P)
x0=[4;5];
s=10
format bank
for k=0:s
    % convert current index to string and 
create xk and coordk strings
    index=string(k);
    s=strcat('x',index,'=');
    c=strcat('[x',index,']_B=');
    % compute xk value
    xk=A^k*x0;
    coordk=inv(P)*xk;
    % display each xk=A^k*x0
    disp(s)
    disp(xk)
    disp(c)
    disp(coordk)
end

https://www.geogebra.org/calculator/bcahjxed
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https://www.geogebra.org/
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